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Use the information provided to write the standard form equation of each circle.
12) Center: (10,16) 13) Center: (~10, -10)
Point on Circle: (11, 15) Radius: 5
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Use the information provided to write the vertex form equation of each parabola

14) Vertex: (8, 0), Focus: (8 1
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Use the information provided to write the standard form equation of each hyperbola
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Use the information provided to write the standard form equation of each ellipse.

-4
18) Vertices: (5, %—13 8) Centen (-4 9) 19) Center: (7, 3) e :}53: 2
Foci: (-4 4-65,8) =08 Vertex: (0 3) B
4 b 4— Focus: (7+34/5,3) ¢=378 b+ %;1—;1
z 5\: . NZ b2
C_f_;'_z’-_ll C‘a\E) Cx‘ﬂl«%—%ﬂ_iz_z
CX ‘f""‘") Cu- E)) - & X \ 8
vllns A=) o [(x = (y-3)_ | |
Lﬂ b 3(.9 ] \,){ I e \ i
2 | b= ¥ i LG % % ‘ :
| 1l e '




